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SYSTEM CONTROL Fall 2014

HW.#1 Laplace Transformation Assigned: September 11 (Th)
Due: September 18 (Th)

[1] Compute Laplace Transform
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[2] Find the Laplace transforms of

F(s)= j f (t)e dt
=L[2(t-2)-1(t-2)-2(t-4)-1(t-4) ]
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F(s) = [{t t(t- 1)}] L[{( 1) (t- 1)1(t—2)}1(t—1)]+
= L[ {t=(t-1)1(t-1)-1(t-1)} ] +...
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[3] Obtain the inverse Laplace Transform of followings:
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[4] Show that:

L{% f (t)} =sF(s)— f (0) where F(s)=L{f(t)}
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j f (t)e dt = f (t)
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F(s) =@+%L[% f (t)}
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L[a f (t)} =sF(s)- f(0)
[5] Show that:
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lim :E f(t)}e“dt = lim[sF (s)- f (0)]
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From which f () = !im f@t)= Iing sF(s)

[6] Solve following differential equation by Laplace Transformation.

y+2y+4y=1
y(0)=0,y(0)=2

$Y () — sy(0) — Y(0) + 25Y (s) — 2y(0) + 4Y () = =
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